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Single Body Analysis #6

Var Given value Units Description

g 10 = | acceleration due to gravity
/m 4 27 kg mass 1
mo 42 kg mass 2

a = | acceleration of system

s N Tension

/772g—7-=/7723
I'—-myg = m;a

myg —myg = (my+ my)a

myg —myg = (my+ my)a

myg-m.g
my + m,

myg-1m.g
my+ m,
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Single Body Analysis #6 (continued)
(42kg)(10812) -(27kg)(1osﬂz)
(27KkQg) + (42kg)

=[2.173913043 Sﬂ s

F'-myg = m,a
I'=mya+mgg

= (27kg) (2.173913043 Sﬂ) + (27kg) (10 Sﬂ)

= [328.6956522N y

m,g—-7T = mya
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my g
m.g—mjra= 17T

I = myg—-m,a
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